Squaring the polynomial (—z — 1):



Squaring the polynomial (—z — 1):

(—x—1)?=(-2—-1) (2 1)



Squaring the polynomial (—z — 1):

(~2=1)? = (~z+ (1)) - (~2 + (1))
= 122



Squaring the polynomial (—z — 1):

(-2 =17 = (~a+ (1)) - (=0 + (~1))
= 12?2 + 1z



Squaring the polynomial (—z — 1):

(—z =12 = (~z+ (1)) (~z+(-1))
=122+ 1z + 1z



Squaring the polynomial (—z — 1):

(2 =1 = (mz+ (~1)) - (=z + (1))
=122+ 1z +1x+1



Squaring the polynomial (—z — 1):

(2 —1)* = (—z+ (=1)) - (= + (1))
=122+ 1lz+1z+1



Squaring the polynomial (—z — 1):

(2 —1)* = (—z+ (=1)) - (= + (1))
=122+ 1lz+1z+1
=242 +1



